VS B P

So sorry Lisa and John | apologise for not getting this
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done more  speedily.
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Here are some  examples.
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Question can you make a cup of tea?

Question are
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able to make a cup of tea?
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The  second sentence is nearly correct because it did not use the
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symbol for tin can for the verb  that means  be able
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There will obviously be words that will need to be simplified to provide
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more support in some cases as we are not using  Blissymbolics  as a
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generative language but rather like a pictographic system . understand  this
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is because we need to be able to map against other symbol sets
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such as ARASAAC, Mulberry, Jellow and other freely available  symbol sets.



